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AR TR B () | B (o) | B (o) | DR | wi

1 LGN > 400 > 250 301 K whnE, RELR

7 #A D A 18.1 ~ 20 300 K% wHitE, RYLR

3 A 300~ 350 | 250~300 | 10 | # whitzE, KELH

4 i 7 250~ 300 | 250~300 | 12 | # whHtE, K2R

5 ey 3 250~ 300 | 200m220 | 24 | K whnE, RE2AR

5 bror % / 250~ 300 | 150~180 | 16 | # whitz, KELH

7 B8 3 280~ 320 | 220~250 | 12 | % Whitz, KY2%

3 B 8 280~ 320 | 220~250 | 24 | %k Wiz, REAR

9 #EM 7 280~300 | 180~200| 20 | # whitz, kYLK

10 b 6 200~250 | 150~ 180 | 6 % whtE, RELR

11 £ / 250~ 300 | 180~200 | 10 | # whHtE, RE2R

12 %3 10 220~250 | 180~220 | 10 | # whnz, REAR

13 fith 10 250~280 | 220~250 | 12 | K whtx, RE2E

14 v 10 280~ 320 | 220~280 | 9 % WhHitE, RILR

15 I B RHRA 150~ 160 200 4 i whnx, kYLK

16 I ERRB 140~ 150 150 4 % wHitE, KE2R

17 Nac# 60 40 44 | m? BAFHKE: 25% /m?2
18 1 60 30 63 | m2 EURRKA: 49%/m2
19 HAM 50 20~25 | 113] m2 ERARKA: 49%/m2
20 A 50 50 102 m? EUARRE: 36K/ m2
) A% 45 35 142 | m?2 BRHERKA: 36K/ m?2
22 S8 40) 20~25 | 118 ] m?2 ERARKE: 25K/ m?2
23 SR 40) 50 105| m?2 BUERRA: 36K/ m?2
04 SUEH 40 50 16| m?2 BRUARKH: 366K/ m?2
25 MK 40) 30 30 | m2 EEARKE: 64%/m?2
26 41 415 m2 BATEXKIEZE
27 ENES 1.5 | t 15%, 100kqH /3
28 | RERLAH 1515 m2 ﬁ%@%\%@wwwu@»
29 | mEFFH 12 % % 2mb
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